C:h Finding Factors Name:

Determine which letter best answer s each question. Answers
1) Which choiceisnot afactor 2) Which choiceisnot afactor 3) Which choiceisnot afactor
of 91?2 of 947 of 35? 1
A. 14 A 2 A. 5
B. 7 B. 94 B. 11 2.
C. 13 C. 47 C. 7
D. 91 D. 15 D. 35 3.
4.
5.
4) Which choiceisnot afactor 5) Which choiceisnot afactor 6) Which choiceisnot afactor
of 48? of 887 of 76? 6.
A. 2 A. 44 A. 3
B. 6 B. 8 B. 4 7.
C. 10 C. 3 C. 76
D. 24 D. 4 D. 19 8.
0.
10.
7) Which choiceisafactor of 8) Which choiceisafactor of 9) Which choiceisafactor of
247 267 507 n_____
A. 14 A. 10 A 11
B. 2 B. 16 B. 5 12.
C. 16 C. 4 C. 4
D. 13 D. 13 D. 7

10) Which choiceisafactor of 11) Which choiceisafactor of 12) Which choiceisafactor of

40? 32? 307

A. 3 A. 6 A. 9
B. 13 B. 2 B. 13
C. 15 C. 10 C. 12
D. 4 D. 13 D. 5
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C:h Finding Factors Name: Answer Key

Determine which letter best answer s each question. Answers
1) Which choiceisnot afactor 2) Which choiceisnot afactor 3) Which choiceisnot afactor
of 91? of 947 of 35? . A
A. 14 A. 2 A. 5
B. 7 B. 94 B. 11 2. D
C. 13 C. 47 C. 7
D. 91 D. 15 D. 35 3, B
s, C
5. C
4) Which choiceisnot afactor 5) Which choiceisnot afactor 6) Which choiceisnot afactor A
of 48? of 887 of 76? 6.
A. 2 A. 4 A. 3
B. 6 B. 8 B. 4 7. B
C. 10 C. 3 C. 76
D. 24 D. 4 D. 19 8. D
9. B
10. D
7) Which choiceisafactor of 8) Which choiceisafactor of 9) Which choiceisafactor of B
247 267 507 n__=2
A. 14 A. 10 A. 11 D
B. 2 B. 16 B. 5 12.
C. 16 C. 4 C. 4
D. 13 D. 13 D. 7

10) Which choiceisafactor of 11) Which choiceisafactor of 12) Which choiceisafactor of

40? 32? 307

A. 3 A. 6 A. 9
B. 13 B. 2 B. 13
C. 15 C. 10 C. 12
D. 4 D. 13 D. 5
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